el colate School

]L_ 11+ ENTRANCE EXAM - Group 2

Friday 147 january 2011

MATHEMATICS

Time aliowed: 1 hiour £3 minutes

Insfractions
Only use a venoil and o rubber, A
Work through the paper carefully without cusling. L.

Do your work clearly in the space near cach question.

Do not rub out vour working: you may get woarks ior i

tfvou cannot answer a gaestion go on fo 1he next one,

Mo caleulators or mders allowed. T
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2, Bubiract 248 from 2366,

EE R Rk MR B

3. Miultiply 57 by 8,

PR FE A A AT NI E N b

4, Divide 21060 by 9.

5. Caloulate



7.

i

Avrangs all the digits 9, 7, 6, 4, 2 to make the smallest even

numseg

il et

L N RS RN NN L I A I R A )

Neha won tweive thousand and eightcen pounds in a lettery.
Jasming wen three hundred and nine pounds. How much did they
win aitogether? (ive vour answer in figures, not words.

Circle two riumbers which have the same value.
g1 7 g1 8.05 5t
) 7
Pt the correct number in the box.
+ 18=8x 4
What is 2 of 3857
i
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The timesable below shows information about the oveimicht

¢h
fromi London to Scotiand.

f London Eushon Station () depart LAY B
i Birmingham International  (Fri) depart | 2 067
i Glaszow ) (hat) arrive (}64":.

Flow tong doas the tain take
&) from London Buston to Birminghasm International?

hrs Wi

b) fom London Euston Siation to Glasgow?

hrs  min

Draw a reflection of the shape in the given line.

train
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b)

in a suvey, the hair colour of a set of girls was recorded. The
results are shown on the bar chart below,

Nurmber of girls

Bar cihart o show hair colour of girls

Hair colour

Complzte the table below.

iiair colour

MNumber of

airls
Black t

i Da_rk bi‘ma-‘_-nl 1; P
Li fcht brown h 5
Blm..;de G
"~ o -

What percentage of girls have

brown hair?




14,  There are 200 nupils on 2 school tris. Hach coach only
holds 34 pupils. How maeny coaches will the school need 16 book?

15, What fraction of the shape is shaded?

llllll LR NN N

16, Ina 24 hour day, what are the two possible times of day shown by
the clock?

'
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18

The ditfereénce hetween fwo puwvibers iz 7,
When the numbers are maltiphed, the resalt is 69,
What are the swo numbers?

FUREASFB A UL s man, ﬂn‘;&

L LY

G the blank grid, draw a rectangle of the same areq ag the pictiire

balow,
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19.

20,

b)

Joanna gets £5.00 pocxet money cach weak and her vounger sisiar,
Amy, gets £3 50 each week. After 5 weeks, Joamma saved zll her
money, it Amy spent 75p a week on stickers, Liew mvich more
does Joanna now have comparad 1o AmyY

BNk DL DR

Continue each sequence by giving the next two terms.

A



21. Look carefully at the function maching below. Each stage ofthe
machine performs a different operation, but identical shapes have
the same operation.

s

i

Tl es ‘ no/ \ 24 e S “\ 8
f:’p[ | > r’f}iz \m [ i}’\"" ) —>
— S

The same function machine has been used below. Work cut the
missing input or output in each case siwn,

’ ’ \\ ’ -
. L
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22, Belinde has 2 digital alarm ciock, 2 - ﬂ
J/J

the numbers oni the clock arc displayedas: | 77 T

S b W w1
A5 55 THY

Belinda’s digital ciook shows the time 01:10
=

She puts it upside down on her bedside table.
The same time 1s shown,

Al what times between 01:10 and 12:00 does the clock show the
samc time when it is upside down as whon it is the right way up?

iiiii L A R I I T T

23,  ABCD s afour digit number

» It first digitis ¥ of its last digit

« The second digit is 1 legs than its firsf digit

= When you multiply ABCD by 4, its digits appesar in reverse
order

# None of the digits are the same

What 13 the numibesr

ERFEAN AR FAdA T



24, Look at this patiern:

66 = 36
56 % 66 = 4336
666 % 666 = 443556

6666 * 6666 = 44435556

aj Lise the pattern to fill :n the spaccs:
e X = 44444435535550
h) How many digits are in the answer to

BEGH66GGH6 »O0G66666667

ro AR B pA T EAaRAFd

25, Janice has 10 pens
5 are blue pens and 5 are red.
§ are felt tip pens

Fill i the blanks in this statement:

Therc are between and _blic falt tip pens.




. . . " 7
26. This shape has an ares of 53om”,
It is made from squars tiles.

Find the pevimeter of the shana.

PRIE ey mm r— =

27. 48 cats eat 12 cans ¢f food in 3 days

i in the spaces:

12 catseat  cans of foed i1 3 dayvs

48 cats eat 24 cans of foud in days

24 cats cat cans of food in 18 days

chrddPREDOPFFEFERYA L




28,

1 only have five coins tnmy purse. They are 1p, 2p, 5o, iupand
20p. It is not possible to make cxactly 19p with these coins.

a)

What 's the smalilest amount that can not be made using my
coins?

ARB L RSP R AR DA

Find the two other amounts, less than 20p, which I cannct

make.

“hAr¥#0oCO0CE EAL BAGA Y Fa4dROnRA

The largest amount of money that can be made using these
comns is 38p. Find the largest amount of money less than 38
which can not be atade using these coins,

LI U IEY BN K B NI O T ]

iwo dentical sguare holes are cut from a rectangular sheet leaving

an area 07 38 sguare centimeircs. How Jong are the sides of the
sqjuare?

14} s

w

9 cm

!
-—




i+ the following natiern, vou can only move rom a letter to a letter
rnmadiately below it but slightiv to the side in the next line,

One route from L to W iz LMOSW

a}  Write down a route from L 1o Y that gees through

...........................

by Write down all the possible routes from I to W

¢l How many possibie routes are there from L to X7



Jane 15 makinoe a spiral out of wirs, She bends the wire after 1 om,
= &
then bends the wire after 2 om, then 3 om and confipues in this

AN, — .

After 4 bende she has used 15 omoof wire

Complete the table

I Number of

P
)
L

| Hends | | ?
Centimetres of 5
wire used | !

How much wire will she have used after 6 bends?




T3

b

Sorne fairy cakes are delivered for Janey’s party

Janey can use big plates or srall plates to put the cakes on,

1£ she uses big plates she can put seven vakes on eachi plate with
five ioft over

1f she nses small plates she can put five cakes en
each plate with thres left over.

What is the smatlest nuriber of cakes that were celivered for
Janay’s patty?

el n P bread FEONRE

The smallest number of calkes are delivered for laney’s party,

a)y I ghe f}nl} ased hig plates for the cakes, how many big plates
would she need?

L drd bl B A IR ET T

b) If she cnly used small plates for the oakes, how many small
plates would she noed?

rw bR Feanacron LR



33 The sweeal shapes below cost S2p aliogether, Hach heart costs
half the price of a triangle and cach star costs double the cest of
sach triangle. Whal'is the cost of g beart?
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34, A fagiory recycles paper cups for use in 1ts canteen. Seven used
cups are needed to make each new cup. From 721 used cups, how
many new cups can be made in total, il ali the used cups gel
recycied?



- -, * - 1 oat H - o[ 2
35, Below is an equilateral {riangie with a total area of 128 em”.
Find the (olal shaded arca,

[ E N E NS SENEREEEE]

36. I bought a packet of fruit gums and ate 2 of them, secretly, in my
Music fesson.
At break, I shared eng third of the remaining frult gums with my
fricnds. 1 then finished the fiuit gums, eating an equal amount In
each of the next four Jessons.
What 13 the smallest pumber of fruit gumns there could have been in
the packet?

mud kA bkt i wRID
/\\‘r
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37, A piece of paper with Tetters wrilten on if1s folded i half, so that
the letters A, B, C, 0. #, 7, G, 11, are on the jop.

| 3 " ; y

f A 1B C D aleicl)o
Elrm-\---\: AELF XV ] i

P RPF G A £ F%G-H
N i e Fold] e
M G=P§

Now the ietier bt is uinder the lettar A.

ay  Which ietter us undei the T ANSWEF....oon

The paper is Toided agam 3¢ that A, B, E and F are on top.

o

Under A arethe letter M, P and Dinthatorder. | & | 5 1

b)  Worlking from wop to bottom:
Which letters are under B? e

Which letters are undar 87 L e

Alfier another fold, which Jetters are under B? Write the
Ietters m order from top to bottom.

--------------------------------------



38,

Pia has three ca rJa Card A tells her to muliiply by 5, caed B telle
her to add 3 and Card C fells ner to divide by 2.

P Ve =y Iy Rw_ _“\

; ;&% : Ly ’
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Tia arranges her cards in the order 4 B € and starts with the
murmber 3. Her answer is 9.

a)

)

d)

[f Pia keeps her cards in the order A B € and starts with 11,
what is her answer?

What whole number would sh2 need to start with to et an
answer of 19, if her eardq were siil! arranged in the ovder ABC?

{f Pia airanges her cards in the order C B A and starts with
namber 4, what is her answer?

udkrh s g OB =&Ea

Pla changes the order ol the cards. She starts mm a whmc
number and ends up with 15, Give all the possible ﬂrders in
which siic could have used her three cards.

A r3 & AIETNEFED wre o wt L AdDSFET S IFAIND Ok F RS FLENEFYT A Hdf AR R IN TS FY D B+ Fe FEFFONFM L -3
/ \?
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Zadoc the space explorer as discovered a strange pianet where thay

have different symbois to describe matnematical operations. iney

are 9,52, 5, &y and # .

Fe worked out that ¢ means *Add the twe numbers and then
mustiply the result by wseit’,

S0 30Z=342x{3HT}=5x5=15

a2y Find 104 e

{ie also found hat & means “Add the two numbers and subtraci 37
by Find 5&37

{Ise the examples o find the meaning of the other new symbols and
use them to answer the guestions.

&) STi=7
3Z4=11
1 @7=15

d)

Find 12@&1

e} 3#4=12
549=19

gH2=15

Find 246, SN



44, A set ot 5 square based boxes ars made Fom centimetre cubes and
each box fits exactly inside erch other, with the tops level. The
dimensions of the largest boxare 14 x 14 x 13

b}  What are the dimensions of the smallest box?
¢y How many cubes ave used 1o make the third box?



